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�4D<4F<6=4O G4EFL >5D47>64F5?L=>= ?D>7D4<<O <E?>?L7>64=4 4?O 
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< ?D>6545=<O 464D<==>-E?4E4F5?L=OE D45>F. 

102 

���.03.01 �>64D=>-E?4E4F5?L=4O F5E=<>4 < >5>DG4>64=<5 102 

��.04 �O?>?=5=<5 D45>F ?> >4=>= <?< =5E>>?L><< 

?D>D5EE<O< D45>G<E, 4>?6=>EFO< E?G64M<E 

74 

���.04.01 &5>D5F<G5E>4O ?>47>F>6>4 6>4<F5?5= >4F57>D<< "%" 72 

���.04.02 &5>D5F<G5E>4O ?>47>F>6>4 ?> ?D>D5EE<< "�>64D=O=" 2 

 

'G55=O= ??4= <<55F E?54GNMGN EFDG>FGDG: 

÷ >5M<= 7G<4=<F4D=O= < E>F<4?L=>-M>>=><<G5E><= F<>?; 

÷ <4F5<4F<G5E><= < >5M<= 5EF5EF65==>=4GG=O= F<>?; 

÷ >5M5?D>D5EE<>=4?L=O= F<>?; 



÷ ?D>D5EE<>=4?L=O= F<>?; 

÷ 7>EG44DEF65==4O <F>7>64O 4FF5EF4F<O, >>F>D4O 7465DL45FEO 

?D<E6>5=<5< >64?<D<>4F<< E?5F<4?<EF4 ED54=57> 765=4 

«E?5F<4?<EF». 
 

&45?<F4 1 

 

%FDG>FGD4 < >5N5< >5D47>64F5?L=>= ?D>7D4<<O 
 

%FDG>FGD4 >5D47>64F5?L=>= 

?D>7D4<<O 

�5N5< >5D47>64F5?L=>= ?D>7D4<<O 6 4>445<<G5E><E G4E4E 

�5O74F5?L=4O G4EFL �4D<4F<6=4O G4EFL 

 � F>< G<E?5 

=4 66545=<5 

4>?>?=<F5?L=OE 

4<EF<??<= (��) 

�5M<= 7G<4=<F4D=O= < E>F<4?L=>-

M>>=><<G5E><= F<>? 

432 - - 

�4F5<4F<G5E><= < >5M<= 

5EF5EF65==>=4GG=O= F<>? 

72 76 72 

�5M5?D>D5EE<>=4?L=O= F<>? 592 346 72 

�D>D5EE<>=4?L=O= F<>? 992 514  

 2088 936 144 

 3024  

 

�5D5G5=L < >5N5< 4<EF<??<= < <>4G?5= >5D47>64F5?L=>= ?D>7D4<<O 

>?D545?5= E GG5F>< ���� 6 >E=>6=>= F45?<F5 GG55=>7> ??4=4. 

� >5M5< 7G<4=<F4D=>< < E>F<4?L=>-M>>=><<G5E>><, <4F5<4F<G5E>>< < 

>5M5< 5EF5EF65==>=4GG=><, >5M5?D>D5EE<>=4?L=>< < ?D>D5EE<>=4?L=>< 

F<>?4E (44?55 - GG55=O5 F<>?O) >5D47>64F5?L=>= ?D>7D4<<O 6O45?5= >5N5< 

D45>FO >5GG4NM<EEO 6> 674<<>45=EF6<< E ?D5?>4464F5?5< ?> 6<44< GG55=OE 

74=OF<= (GD>>, ?D4>F<G5E>>5 74=OF<5, ?45>D4F>D=>5 74=OF<5, >>=EG?LF4F<O, 

?5>F<O, E5<<=4D), ?D4>F<>< (6 ?D>D5EE<>=4?L=>< F<>?5) < E4<>EF>OF5?L=>= 

D45>FO >5GG4NM<EEO. 

 

�5NU< 6D5<5=<, >F654U==>7> =4 ?D><56GF>G=GN 4FF5EF4F<N, E>EF46?O5F 

=5 5>?55 2 =545?L 6 GG55=>< 7>4G. �D><56GF>G=4O 4FF5EF4F<O   6 D>D<5 

M>74<5=4 ?D>6>4<FEO 6 45=L, >E6>5>64U==O= >F 4DG7<E D>D< GG55=>= 

=47DG7><.  �D><56GF>G=4O 4FF5EF4F<O 6 D>D<5 74GUF4, 4<DD5D5=F<D>64==>7> 

74GUF4 ?D>6>4<FEO 74 EGUF G4E>6, >F654U==OE =4 >E6>5=<5 >GDE4. 

� >4G5EF65 D>D< ?D><56GF>G=>= 4FF5EF4F<< 6 GG55=>< ??4=5 



<E?>?L7>64=O: 

÷ ->74<5= 

÷ �<DD5D5=F<D>64==O= 74G5F 

÷ �><??5>E=O= 4<DD5D5=F<D>64==O= 74G5F 

÷ �GDE>64O D45>F4 

÷ %5<5EFD>6O= >>=FD>?L (6 GG55=>< ??4=5 6 >>?>=>5 «�DG7<5 D>D<O 

>>=FD>?O» 

� E>>F65FEF6<< E FD55>64=<O<< 464 ?D<>474 >>?<G5EF6> 74G5F>6 6 GG55=>< 

7>4G =5 ?D56OL45F 10, 4 M>74<5=>6 3 8, 4 <<5==>: 

1 >GDE - 9 74G5F>6, 4 M>74<5=4; 

2 >GDE - 10 74G5F>6, 4 M>74<5=4; 

3 >GDE - 10 74G5F>6, 3 M>74<5=4, 1 >GDE>64O D45>F4; 

4 >GDE 3 10 74G5F>6, 4 M>74<5=4, 1 >GDE>64O D45>F4. 

� G>474==>5 >>?<G5EF6> =5 6E>4OF 74G5FO ?> D<7<G5E>>= >G?LFGD5. 

�>?<G5EF6> M>74<5=>6 < 74G5F>6 D4EEG<F4=> E GG5F>< >><??5>E=OE D>D< 

>>=FD>?O: 

�><??5>E=O= 4<D.74G5FO:  

1 

5 

[5] 
'�.03.01 'G55=4O ?D4>F<>4. $5<>=F < >5E?G6<64=<5 F5E=<G5E><E ED54EF6, 
<E?>?L7G5<OE 4?O ?D54G?D5645=<O, FGL5=<O ?>64D>6 < ?D>6545=<O 464D<==>-
E?4E4F5?L=OE D45>F. 

[5] 
��.03.01 �D><76>4EF65==4O ?D4>F<>4. $5<>=F < >5E?G6<64=<5 F5E=<G5E><E ED54EF6, 
<E?>?L7G5<OE 4?O ?D54G?D5645=<O, FGL5=<O ?>64D>6 < ?D>6545=<O 464D<==>-
E?4E4F5?L=OE D45>F. 

2.  

8 

[8] 
'�.02.01 'G55=4O ?D4>F<>4. �EGM5EF6?5=<5 7>EG44DEF65==OE <5D 6 >5?4EF< 
>55E?5G5=<O ?>64D=>=  557>?4E=>EF< 

[8] 
��.02.01 �D><76>4EF65==4O ?D4>F<>4. �EGM5EF6?5=<5 7>EG44DEF65==OE <5D 6 >5?4EF< 
>55E?5G5=<O ?>64D=>= 557>?4E=>EF<. 

 
�O?>?=5=<5 >GDE>6>7> ?D>5>F4 D4EE<4FD<645FEO >4> 6<4 GG55=>= D45>FO 

?> ?D>D5EE<>=4?L=><G <>4G?N < D54?<7G5FEO 6 ?D545?4E 6D5<5=<, 

>F6545==>7> =4 57> <7GG5=<5. 'G55=O< ??4=>< ?D54GE<4FD<645FEO 

>5O74F5?L=>5 6O?>?=5=<5 46GE >GDE>6OE ?D>5>F>6: ?> ��.01 �D74=<74F<O 

E?G65O ?>64D>FGL5=<O < ?D>6545=<5 D45>F ?> FGL5=<N ?>64D>6 < 

?<>6<44F<< ?>E?54EF6<= GD576OG4==OE E<FG4F<=.  < ��.02 �EGM5EF6?5=<5 

7>EG44DEF65==OE <5D 6 >5?4EF< >55E?5G5=<O ?>64D=>= 557>?4E=>EF<. 

 



 
4.�5M5>5D47>64F5?L=O= F<>? 
 
�>?GG5=<5 ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O =4 5475 >E=>6=>7> 

>5M57> >5D47>64=<O >EGM5EF6?O5FEO E >4=>6D5<5==O< ?>?GG5=<5< ED54=57> 

>5M57> >5D47>64=<O 6 ?D545?4E >5D47>64F5?L=>= ?D>7D4<<O ED54=57> 

?D>D5EE<>=4?L=>7> >5D47>64=<O.  

�5M5>5D47>64F5?L=O= F<>? ED>D<<D>64= =4 >E=>65 FD55>64=<= 

D545D4?L=OE 7>EG44DEF65==OE >5D47>64F5?L=OE EF4=44DF>6 ED54=57> >5M57> 

< ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O E GG5F>< ?>?GG45<>= ?D>D5EE<< 

ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O. 

�5M<= >5N5< >5D47>64F5?L=>= ?D>7D4<<O 4?O D54?<74F<< FD55>64=<= 

$��% %�� =4 5475 >E=>6=>7> >5M57> >5D47>64=<O 1476 G4E>6 (6 F>< G<E?5 72 

G4E4 =4 ?D><56GF>G=GN 4FF5EF4F<N).  

� E>>F65FEF6<< E FD55>64=<O<< $��% %�� < E GG5F>< D5>><5=44F<= 

�<EL<4 �<=>5D=4G>< $$ 6 >4G5EF65 ?D>D<?O ?>?GG45<>7> >5D47>64=<O 

6O5D4= F5E=>?>7<G5E><= ?D>D<?L.  

�5M5>5D47>64F5?L=O= F<>? GG55=>7> ??4=4 ?D54GE<4FD<645F <7GG5=<5 

>5O74F5?L=OE GG55=OE ?D54<5F>6:  

" GG55=OE ?D54<5F>6 ?> 6O5>DG <7 >5O74F5?L=OE ?D54<5F=OE >5?4EF5=; 

" 4>?>?=<F5?L=OE GG55=OE ?D54<5F>6, >GDE>6 ?> 6O5>DG;  

" >5M<E 4?O 6>?NG5=<O 6> 6E5 GG55=O5 ??4=O GG55=OE ?D54<5F>6, 6 F>< 

G<E?5 =4 G7?G5?5==>< GD>6=5. 

�5M5>5D47>64F5?L=O= F<>? E>45D6<F 12 GG55=OE ?D54<5F>6, 6 F>< G<E?5 

6 F<>? «�5M<5 GG55=O5 ?D54<5FO» (886 G4E - 60%) 6>?NG5=O GG55=O5 

?D54<5FO:   

1. "$GEE><= O7O>",  

2. "�<F5D4FGD4",  

3. "�=>EFD4==O= O7O>",  

4. "�4F5<4F<>4",  

5. "�EF>D<O",  

6. "$<7<G5E>4O >G?LFGD4",  

7. "�E=>6O 557>?4E=>EF< 6<7=545OF5?L=>EF< ", 

8. "�EFD>=><<O". 

�D< MF>< GG55=O= ??4= ?D>D<?O >5GG5=<O E>45D6<F 3 GG55=OE 

?D54<5F4, <7GG45<OE =4 G7?G5?5==>< GD>6=5:  

9.  "�4F5<4F<>4",  

10. "$<7<>4", 

11. ""%<<<O". 

12. �>?>?=<F5?L=O= GG55=O= ?D54<5F «�6545=<5 6 E?5F<4?L=>EFL»  

=>E<F <=F57D<D>64==O= E4D4>F5D. �=F57D<D>64==O= ?>4E>4 > 

?>EFD>5=<N E>45D64F5?L=OE M?5<5=F>6 ?D>7D4<<O 6 7=4G<F5?L=>= <5D5 

>?D545?O5FEO D4<>4<< GG55=>7> 6D5<5=< < F5?O<< ED54=57> 

?D>D5EE<>=4?L=>7> >5D47>64=<O. 

'G55=O= ?D54<5F 6>?NG45F E?54GNM<5 D4745?O: 



$4745? 1. �E=>6O ?D>5>F=>= 45OF5?L=>EF<; 

$4745? 2. �E=>6O 4=4F><<< < D<7<>?>7<< G5?>65>4; 

$4745? 3. �E=>6O >5M5EF65==OE =4G>; 

$4745? 4. &5E=>?>7<O. 

%>45D64=<5 ?D>7D4<<O 4>?>?=<F5?L=>7> GG55=>7> ?D54<5F4 =4?D46?5=> 

=4 D>D<<D>64=<5 G EFG45=F>6 7=4=<= ?D<>?44=>7> E4D4>F5D4, =5>5E>4<<OE 

4?O 6O?>?=5=<O >E=>6=OE E>F<4?L=OE D>?5=, >D74=<74F<< 674<<>45=EF6<O E 

>>DG64NM<<< ?N4L<< < E>F<4?L=O<< <=EF<FGF4<<. �46=>5 7=4G5=<5 

?D<445FEO D>D<<D>64=<N 547>6OE E>F<4?L=OE >><?5F5=F<=, 

DG=>F<>=4?L=>= >5M57D4644=E>>= 7D4<>F=>EF<. 

�> �'�.01 «�6545=<5 6 E?5F<4?L=>EFL» ?D>6>4<FEO >><??5>E=O= 

4<DD5D5=F<D>64==O= 74G5F ?D5?>4464F5?O<<, 654GM<<< GG55=O5 74=OF<O, 

6>?NG5==O< 6 >><??5>E=O= 4<DD5D5=F<D>64==O= 74G5F. �D< ?>4EG5F5 

ED54=5= >F5=>< ?> 6E5< 4<EF<??<=4< 6OEF46?O5FEO >4=4 >F5=>4 ?> 

>><??5>E=><G 4<DD5D5=F<D>64==><G 74G5FG GG<FO645FEO >4> >4=4 54<=<F4. 

 

� D4<>4E >E6>5=<O >5M5>5D47>64F5?L=>7> F<>?4 ?D54GE<>FD5=> 

6O?>?=5=<5 >5GG4NM<<<EO <=4<6<4G4?L=>7> ?D>5>F4 6 F5G5=<5 1 7>44 =4 1 

>GDE5 >5GG5=<O. 

 

5. �5M5?D>D5EE<>=4?L=O= F<>? 

�E6>5=<5 >5M5?D>D5EE<>=4?L=>7> F<>?4 >5D47>64F5?L=>= ?D>7D4<<O 

?D54GE<4FD<645F >E6>5=<5 4<EF<??<=O "$<7<G5E>4O >G?LFGD4" 6 >5N5<5 168 

4>445<<G5E><E G4E>6, 565=545?L=> ?D54GE<>FD5=O 2 G4E4 >5O74F5?L=OE 

4G4<F>D=OE 74=OF<= < 2 G4E4 E4<>EF>OF5?L=>= GG55=>= =47DG7>< 74 EG5F 

D47?<G=OE D>D< 6=54G4<F>D=OE 74=OF<= 6 E?>DF<6=OE >?G54E, E5>F<OE.  

�E6>5=<5 >5M5?D>D5EE<>=4?L=>7> F<>?4 >5D47>64F5?L=>= ?D>7D4<<O 

?D54GE<4FD<645F <7GG5=<5 4<EF<??<=O "�57>?4E=>EFL 6<7=545OF5?L=>EF<" 6 

>5N5<5 68 4>445<<G5E><E G4E>6, <7 =<E =4 >E6>5=<5 >E=>6 6>5==>= E?G65O 

(4?O N=>L5=) - 70 ?D>F5=F>6 >F >5M57> >5N5<4 6D5<5=<, >F6545==>7> =4 

G>474==GN 4<EF<??<=G. 

�5D47>64F5?L=>= ?D>7D4<<>= 4?O ?>47DG?? 456GL5> ?D54GE<>FD5=> 

<E?>?L7>64=<5 70 ?D>F5=F>6 >F >5M57> >5N5<4 6D5<5=< 4<EF<??<=O 

"�57>?4E=>EFL 6<7=545OF5?L=>EF<", ?D54GE<>FD5==>7> =4 <7GG5=<5 >E=>6 

6>5==>= E?G65O, =4 >E6>5=<5 >E=>6 <54<F<=E><E 7=4=<=. 

 6. �D>D5EE<>=4?L=O= F<>? 

�D>D5EE<>=4?L=O= F<>? >5D47>64F5?L=>= ?D>7D4<<O 6>?NG45F 

?D>D5EE<>=4?L=O5 <>4G?<, >>F>DO5 ED>D<<D>64=O 6 E>>F65FEF6<< E 

>E=>6=O<< 6<44<< 45OF5?L=>EF<, ?D54GE<>FD5==O<< =4EF>OM<< $��% %��: 

 



�E=>6=O5 6<4O 45OF5?L=>EF< �D>D5EE<>=4?L=O5 <>4G?< 

�D74=<74F<O E?G65O ?>64D>FGL5=<O < 

?D>6545=<5 D45>F ?> FGL5=<N ?>64D>6 < 

?<>6<44F<< ?>E?54EF6<= GD576OG4==OE 

E<FG4F<=. 

��.01. �D74=<74F<O E?G65O 

?>64D>FGL5=<O < ?D>6545=<5 D45>F ?> 

FGL5=<N ?>64D>6 < ?<>6<44F<< 

?>E?54EF6<= GD576OG4==OE E<FG4F<=. 

�EGM5EF6?5=<5 7>EG44DEF65==OE <5D 6 

>5?4EF< >55E?5G5=<O ?>64D=>= 

557>?4E=>EF<. 

��.02. �EGM5EF6?5=<5 7>EG44DEF65==OE 

<5D 6 >5?4EF< >55E?5G5=<O ?>64D=>= 

557>?4E=>EF< 

$5<>=F < >5E?G6<64=<5 F5E=<G5E><E 

ED54EF6, <E?>?L7G5<OE 4?O 

?D54G?D5645=<O, FGL5=<O ?>64D>6 < 

?D>6545=<O 464D<==>-E?4E4F5?L=OE 

D45>F. 

��.03. $5<>=F < >5E?G6<64=<5 F5E=<G5E><E 

ED54EF6, <E?>?L7G5<OE 4?O ?D54G?D5645=<O, 

FGL5=<O ?>64D>6 < ?D>6545=<O 464D<==>-

E?4E4F5?L=OE D45>F. 

�O?>?=5=<5 D45>F ?> >4=>= <?< 

=5E>>?L><< ?D>D5EE<O< D45>G<E, 

4>?6=>EFO< E?G64M<E. 

��.04. �O?>?=5=<5 D45>F ?> >4=>= <?< 

=5E>>?L><< ?D>D5EE<O< D45>G<E, 

4>?6=>EFO< E?G64M<E 

11442 �>4<F5?L 46F><>5<?O*  

16781 �>64D=O=* 

 

�?O >E6>5=<O <>4G?O ��.04 �O?>?=5=<5 D45>F ?> >4=>= <?< =5E>>?L><< 

?D>D5EE<O< D45>G<E, 4>?6=>EFO< E?G64M<E, E>7?4E=> ?5D5G=N 

D5>><5=4G5<OE > >E6>5=<N ?D>D5EE<= 6 D4<>4E ��%%�, 6 E>>F65FEF6<< E 

74?D>E4<< D45>F>44F5?5= 6O5D4=O D45>G4O ?D>D5EE<O 11442 �>4<F5?L 

46F><>5<?O*, 16781 �>64D=O=*. �> D57G?LF4F4< >E6>5=<O 

?D>D5EE<>=4?L=>7> <>4G?O ��.04, EFG45=F ?>?GG45F 4>>G<5=F 

(E6<45F5?LEF6>) > ?>?GG5=<< D45>G5= ?D>D5EE<<. �D<E6>5=<5 >64?<D<>4F<< > 

?>?GG5=<< D45>G5= ?D>D5EE<< ?D>E>4<F E GG4EF<5< D45>F>44F5?5=. 

 

� ?D>D5EE<>=4?L=O= F<>? >5D47>64F5?L=>= ?D>7D4<<O 6E>4OF 

E?54GNM<5 6<4O ?D4>F<>: GG55=4O ?D4>F<>4 (12 =545?L), ?D><76>4EF65==4O 

?D4>F<>4 (?> ?D>D<?N E?5F<4?L=>EF< 313 =545?L), ?D><76>4EF65==4O ?D4>F<>4 

(?D544<??><=4O - 4 =545?<). �D544<??><=4O ?D4>F<>4 =4?D46?5=4 =4 E5>D 

<EE>4=OE 44==OE <?< 6O?>?=5=<O ?>EF46?5==OE ?D><76>4EF65==OE 7444G E 

44?L=5=L<< ?D>4>?65=<5< MF>= 45OF5?L=>EF< ?D< 6O?>?=5=<< 4<??><=>7> 

?D>5>F4. 

�>EG44DEF65==4O <F>7>64O 4FF5EF4F<O ?D>6>4<FEO 6 D>D<5 74M<FO 

6O?GE>=>= >64?<D<>4F<>==>= D45>FO (4<??><=4O D45>F4). &5<4 4<??><=>7> 

?D>5>F4 4>?6=4 E>>F65FEF6>64FL E>45D64=<N >4=>7> <?< =5E>>?L><E 

?D>D5EE<>=4?L=OE <>4G?5= < 6 ?>?=>< >5N5<5 E>>F65FEF6>64FL FD55>64=<O<   

> ?D>D5EE<>=4?L=O< >><?5F5=F<O< 6O?GE>=<>>6.                                                              

�>=EG?LF4F<< 4?O >5GG4NM<EEO ?D54GE<4FD<64NFEO >5D47>64F5?L=O< 



GGD5645=<5< <7 D4EG5F4 4 G4E4 =4 >4=>7> >5GG4NM57>EO =4 >464O= GG55=O= 

7>4. $>D<O ?D>6545=<O >>=EG?LF4F<= (7DG??>6O5, <=4<6<4G4?L=O5, 

?<EL<5==O5, GEF=O5) >?D545?ONFEO >5D47>64F5?L=O< GGD5645=<5<. 

�5M4O ?D>4>?6<F5?L=>EFL >4=<>G? E>EF46?O5F 8311 =545?L 6 GG55=>< 

7>4G, 6 F>< G<E?5, =5 <5=55 2 =545?L 6 7<<=<= ?5D<>4. 
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